Math 242 Final Fall 2018
Name: géw sl (

(Please circle your section)

Section 1, MWF 12:30-1:20, Jeffrey Lyons
Section 2, MWF 12:30-1:20, Jeffrey Lyons
Section 3, MWF 1:30-2:20, Jeffrey Lyons
Section 4, MWF 1:30-2:20, Jeffrey Lyons
Section 5, TR 9:00-10:15, Anne Carter
Section 6, TR 9:00-10:15, Anne Carter
Section 7, TR 12:00-1:15, Elliot Ossanna

Section 8, TR 12:00-1:15, Elliot Ossanna
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Page | Points | Score
2 20
3 20
4 30
5 30
6 30
7 25
8 30
9 30
10 28
11 17

Total: | 260

You may not use notes or calculators on the test.

e Please ask if anything seems confusing or ambiguous.

e You must show all your work and make clear what your final solution is (e.g. by drawing

a box around it), except for the “short-answer” problems at the end.

o If you run out of room on a problem, continue on the blank page (page 12) and indicate

clearly that you are doing this.

e On problems with choices (like Problem 10) do not do more parts than we ask you to,

or you might be penalized!

e The last two pages are a formula sheet. You are welcome to remove this from the

exam.

e Don’t forget to put your name on the paper!

Good luck!
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1. (10 points) Find f’(2) where f(z) = e,
x

(Hint: use logarithmic differentiation. )
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3. (20 points) (a) Find /3 1:(%{3)"’ or show that it diverges.
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(b) What does this say about =7 (Fullest credit only if you verify all the
n(lnn)?
n=3

conditions required for any tests you mention!)

\ '—e'v X 7O s f of

/

\»..4 P = =
b -:g( D & (\“%\
—QA—C'\':"’(

\av\:(LVCX « b Pof\‘\-}\q ‘Q‘M .
Com o Feel ol @ PINEeS ey
LS WaVoardrdd, |

> (}unH\q !
Carviooud

< OL‘_ACNQJ\V‘ 6'. MV\WV‘(V\C "’"
\

Loyr Tme

oL \

'\/\WPo wiy ¢
Convyt )

"ﬂ\_(,\ '/\\AA |\:\+(0""“ "\CJ k S\MJ \,\-;-Lh (\V‘ V‘\L
\
) ———— dv (owve o
“ #\\*7‘31 Pa;é/;
2



4. (30 points) Evaluate TWO of the following THREE integrals here. DO NOT DO ALL
THREE! Cross out the one you do not want graded.
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5. (30 points) Evaluate TWO of the following THREE integrals. DO NOT DO ALL
THREE! Cross out the one you do not want graded.

dx =7 (c) /e' cos(2t)dt =?
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6. (10 points) Test for convergence: ; Z;?;-_Q)'
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7. (20 points) Compute the exact value (or show diverges):
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8. (10 points) Do ONE of the following TWO problems. Cross out the one you do not
want graded.

Cof 6'8)
\ _ cos (z6) _ Cof3E %
(a) [sin(26)cos(50)d6 =? =5 gsﬂﬂ (‘3‘9) b s (%) Ao = 75 \¢ =
2
= dx using Simpson’s Rule and the Trapezoid Rule with n = 4.
1
You need not simplify your answer.

(b) Approximate
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10. (30 points) Solve TWO of the following THREE problems. DO NOT DO ALL THREEL!
Cross out the one you do not want graded. You do not need to solve for y in terms of
x or t in your answers.

(a)-Setve-the-imitiat-valte-problemm:—y/ 4y +dy-=0i—y(0) = Ly 0)=0 Wb covered

(b) Find the general solution to: csc(z® + 1)% =zy  Separelrt
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11. (30 points) Solve TWO of the following THREE problems. DO NOT DO ALL THREE!
Cross out the one you do not want graded.

(a) Approximate the function f(x) = ¢z by a Taylor polynomial of degree 2 at the
point a = 8. How accurate is this approximation when 7 < z < 9?7 (You don’t need

to simplify your answer.)

(b) Find the power series for f(z) = CYCIE and determine the radius of convergence.

(¢) Derive the formula for %cos‘l x. (Don’t just quote the answer from the formula
sheet, we need to see where the formula comes from.)
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The problems on this page are short answer. You need not show work. They should all be
very quick, if not you are doing it wrong!

(10 points) Circle all series that converge.
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The problems on this page are also short answer. You need not show work.

14. (10 points) (a) For the pictured slope field, circle the differential equation for which it

ost likely the slope field:
Y=(y—x)/y B % =xz+y C. % =(y—=x)/x D. f% =x/y
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(b) On the same picture, sketch the solution to this equation that passes through the
point (2,1)

15. (7 points) Write out the form of a partial fractions decomposition for

9

8
(z+1)(x —2)%(2®+1)2

(In other words, the very first step in a partial fractions decomposition.) Do NOT
actually find any coefficients!!
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(This page intentionally left blank. Use for scratch work or to finish a solution from earlier
in the exam.)
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Formula sheet

e Derivatives of inverse trigonometric functions.

—d—sin'l(x) - icos"('z:) S S

dz T V1I-2? dz ' V1 -z

d -1 1 d 1y 1

(—i—;tan (m)—1+x2 dxCOt (z) = 1+ 22

isec‘l(:c) -1 4 csc”l(z) = L

dx |z| vz -1 dz |z]vz? =1
o Trigonometric identities.

sin?z + cos’z =1

1+ tan’z = sec’z
1+ cot’z =csc’x

sin’x = %(1 — cos(2z))
cos’z = %(1 + cos(2z))
1
sinrcosr = 5 sin(2z)
. . 1 1
sinzsiny = 5 cos(z — y) — 5 cos(z + y)
1 1
coszeosy = 3 cos(z —y) + > cos(z + y)

. 1, 1 .
sma:cosy=§sm(:c—y)+§sm(x+y)

o Integrals of trigonometric functions.
/tanx dzr =Inj|secz|+C
/cot:c dr = In|sinz|+C
/sec:c dr =In|secz + tanz|+ C

/cscz dr = —In|cscz +cotz| +C
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¢ Trapezoidal Rule and Simpson’s Rule.

Az
T=T(y0+2yl+2y2+---+2yn—l+yn)
Az
S = —3— yo+4y1+2yg+4y3+...+2y,,_2+4y,._1+y,.

e Error estimates for Trapezoidal Rule and Simpson’s Rule.

— )3

|Er| < -A%, where |f”(z)| < M for all z in [a, b]
5

|Es| < %, where |f*(z)] < M for all z in [a, b]

o Famous Maclaurin series.

I = xn
e = E pors (R= o0)
n=0
aad (—1)"1?2n+l

sinz = z_:o —(2n 1) (R=00)

cosx=i£ﬂ (R = 00)

—  (2n)!
ln(l+w)=i# (R=1)
tan"x=i(—_%):i2—-1’i (R=1)

n=0

o Error estimate for approximations by Taylor polynomials.

Mz — a|**!

IRalz)| € =gy

where | f("*1(¢)| < M for all t between a and z.
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